Question 1
Question text

Natural Monopoly of Urban Services and Infrastructure means

Select one:

a. Cost of arranging services is more as compared to service by a single provider

C b. Cost by services from community is more

i
c

Cost by multiple providers is more

d. Cost by private operator is more

Question 2
Question text

Removal of Water and Sanitation in adequacies in India can enhance GDP @ of

Select one:

T
a

10%
C b. No impact
c. 15%

d. 6.4%

i
T

Question 3
Question text

Service Level Benchmarking of Govt. of India covered

Select one:

a. Transport & Traffic

b. Parks & Play grounds

c. Street Lighting & Roads

d. Water Supply, Sewage, Solid Waste Management and Storm Water Drainage

TN

Question 4
Question text
What do we mean by NIMBY

Select one;
a. Not In My Backyard



b. None of above
¢. No information on Municipal Business Year

d. Non Index of Municipal Bonds..........



